# A Note on $q$-Analogues of Degenerate Catalan-Daehee Numbers and Polynomials 

Waseem A. Khan (ㅁ)<br>Department of Mathematics and Natural Sciences, Prince Mohammad Bin Fahd University, P. O. Box: 1664, Al Khobar 31952, Saudi Arabia<br>Correspondence should be addressed to Waseem A. Khan; wkhan1@pmu.edu.sa

Received 24 February 2022; Accepted 20 April 2022; Published 12 May 2022
Academic Editor: Barbara Martinucci
Copyright © 2022 Waseem A. Khan. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.


#### Abstract

Recently, Yuankui et al. (Filomat J. $35(5): 17,2022$ ) studied $q$-analogues of Catalan-Daehee numbers and polynomials by making use of $p$-adic $q$-integrals on $\mathbb{Z}_{p}$. Motivated by this study, we consider $q$-analogues of degenerate Catalan-Daehee numbers and polynomials with the help of $p$-adic $q$-integrals on $\mathbb{Z}_{p}$. By using their generating function, we derive some new relations including the degenerate Stirling numbers of the first and second kinds. Moreover, we also derive some new identities and properties of this type of polynomials and numbers.


## 1. Introduction

Numerous exceptional numbers and polynomials have been concentrated by utilizing different techniques, including producing capacities, $p$-adic investigation, combinatorial techniques, umbral math, differential conditions, likelihood hypothesis, and scientific number hypothesis. In [1], Kuculoglu et al. developed producing capacities for new classes of Catalan-type numbers and polynomials. Utilizing these capacities and their useful conditions, they gave different personalities and relations, including these numbers and polynomials, and different classes of extraordinary numbers, polynomials, and capacities. Some endless series portrayals, including Catalan-type numbers and combinatorial numbers, were examined. In addition, a few repeat relations and computational calculations in the Python programming language represented the Catalan-type numbers and polynomials with their plots under the extraordinary circumstances. They likewise gave a few subordinate equations for these polynomials. Above, polynomials and numbers can be determined by utilizing the Riemann indispensable, shape fundamental, Volkenborn vital, and fermionic $p$-adic essential.

Catalan-Daehee numbers and polynomials were presented in [2], and a few properties and personalities related
with those numbers and polynomials were inferred by using umbral analytic procedures. The group of straight differential conditions emerging from the creating capacity of Catalan-Daehee numbers was thought of as in [3]. In [4], a few properties and personalities related with Catalan numbers and polynomials were inferred by using umbral analytic procedures. Dolgy et al. [5] gave a few new characters for those numbers and polynomials got from $p$-adic Volkenborn vital on $\mathbb{Z}_{p}$. Recently, Yuankui et al. [6] presented and contemplated $q$-analogues of the Catalan-Daehee numbers and polynomials with the help of $p$-adic $q$-integrals on $\mathbb{Z}_{p}$. The point of this study is to present $q$-analogues of the ruffian Catalan-Daehee numbers and polynomials by utilizing $p$-adic $q$-essential on $\mathbb{Z}_{p}$ and infer a few unequivocal characters for those numbers and polynomials connected with different exceptional numbers and polynomials. For the remainder of this segment, we review the important realities that are required throughout this study.

Let $p$ be a fixed odd prime number. Throughout this study, $\mathbb{Z}_{p}, \mathbb{Q}_{p}$, and $\mathbb{C}_{p}$ will denote, respectively, the ring of $p$-adic integers, the field of $p$-adic rational numbers, and the completion of the algebraic closure of $\mathbb{Q}_{p}$. The $p$-adic norm $|\cdot|_{p}$ is normalized as using $|p|_{p}=1 / p$. Let $q$ be an indeterminate in $\mathbb{C}_{p}$ with $|1-q|_{p}<p^{-(1 /(p-1))}$. The $q$-analogue of $x$ is defined through $[x]_{q}=\left(1-q^{x}\right) /(1-q)$. Note that
$\lim _{q \rightarrow 1}[x]_{q}=x$. Let $f$ be a uniformly differentiable function on $\mathbb{Z}_{p}$. Then, the $p$-adic $q$-integral on $\mathbb{Z}_{p}$ is defined by Kim as [4, 7]

$$
\begin{align*}
\int_{\mathbb{Z}_{p}} f(x) \mathrm{d} \mu_{q}(x) & =\lim _{N \longrightarrow \infty} \sum_{x=0}^{p^{N}-1} f(x) \mu_{q}\left(x+p^{N} \mathbb{Z}_{p}\right) \\
& =\lim _{N \longrightarrow \infty} \frac{1}{\left[p^{N}\right]_{q}} \sum_{x=0}^{p^{N}-1} f(x) q^{x},(\operatorname{see}[7,8]) . \tag{1}
\end{align*}
$$

From (1), we note that

$$
\begin{align*}
q \int_{\mathbb{Z}_{p}} f(x+1) \mathrm{d} \mu_{q}(x)= & \int_{\mathbb{Z}_{p}} f(x) \mathrm{d} \mu_{q}(x)+(q-1) f(0) \\
& +\frac{q-1}{\log q} f^{\prime}(0), \tag{2}
\end{align*}
$$

where $f^{\prime}(0)=\left.(\mathrm{d} f / \mathrm{d} x)\right|_{x=0}([7-12])$.
Let us take $f(x)=e^{x t}$. By (1), we get

$$
\begin{equation*}
\frac{(q-1)+((q-1) / \log q) t}{q e^{t}-1}=\int_{\mathbb{Z}_{p}} e^{x t} \mathrm{~d} \mu_{q}(x) . \tag{3}
\end{equation*}
$$

The $q$-Bernoulli numbers are defined by ([6])

$$
\begin{equation*}
\frac{(q-1)+((q-1) / \log q) t}{q e^{t}-1}=\sum_{n=0}^{\infty} B_{n, q} \frac{t^{n}}{n!} \tag{4}
\end{equation*}
$$

From (4), we note that

$$
q\left(B_{q}+1\right)^{n}-B_{n, q}= \begin{cases}q-1, & \text { if } n=0  \tag{5}\\ \frac{q-1}{\log q}, & \text { if } n=1 \\ 0, & \text { if } n>1\end{cases}
$$

with the usual convention about replacing $B_{q}^{n}$ by $B_{n, q}$.
The Catalan numbers are defined by the generating function as follows ( $[1,4,6,13,14]$ ):

$$
\begin{equation*}
\frac{2}{1+\sqrt{1-4 t}}=\frac{1-\sqrt{1-4 t}}{2 t}=\sum_{n=0}^{\infty} C_{n} t^{n} \tag{6}
\end{equation*}
$$

where $\quad t \in \mathbb{C}_{p} \quad$ with $\quad|t|_{p}<p^{-(1 / p-1)} \quad$ and $C_{n}=\binom{2 n}{n}(1 /(n+1)),(n \geq 0)$.

The Catalan polynomials are defined by the generating function as follows ( $[4,13]$ ):

$$
\begin{align*}
\int_{\mathbb{Z}_{p}}(1-4 t)^{(x+y) / 2} \mathrm{~d} \mu_{-1}(y) & =\frac{2}{1+\sqrt{1-4 t}}(1-4 t)^{x / 2} \\
& =\sum_{n=0}^{\infty} C_{n}(x) t^{n} \tag{7}
\end{align*}
$$

where $t \in \mathbb{C}_{p}$ with $|t|_{p}<p^{-(1 /(p-1))}$.
When $x=0, C_{n}=C_{n}(0)$ are called the Catalan numbers.

Thus, by (6) and (7), we have

$$
\begin{equation*}
C_{n}(x)=\sum_{m=0}^{n} \sum_{j=0}^{m}\left(\frac{x}{2}\right)^{j} S_{1}(m, j)(-4)^{m} \frac{C_{n-m}}{m!} . \tag{8}
\end{equation*}
$$

Kim-Kim [2, 3] introduced the Catalan-Daehee polynomials defined by

$$
\begin{align*}
\int_{\mathbb{Z}_{p}}(1-4 t)^{(x+y) / 2} \mathrm{~d} \mu(y) & =\frac{(1 / 2) \log (1-4 t)}{\sqrt{1-4 t}-1}(1-4 t)^{x / 2} \\
& =\sum_{n=0}^{\infty} d_{n}(x) t^{n} \tag{9}
\end{align*}
$$

When $x=0, d_{n}=d_{n}(0)$ are called the Catalan-Daehee numbers.

From (6) and (9), we get

$$
d_{n}= \begin{cases}1, & \text { if } n=0  \tag{10}\\ \frac{4^{n}}{n+1}-\sum_{m=0}^{n-1} \frac{4^{n-m-1}}{n-m} C_{m}, & \text { if } n \geq 1\end{cases}
$$

By using (2), the $q$-analogues of Catalan-Daehee numbers are defined by ([6])

$$
\begin{align*}
\int_{\mathbb{Z}_{p}}(1-4 t)^{x / 2} \mathrm{~d} \mu_{q}(x) & =\frac{q-1+((q-1) / \log q)(1 / 2) \log (1-4 t)}{q \sqrt{1-4 t}-1} \\
& =\sum_{n=0}^{\infty} d_{n, q} q^{n} . \tag{11}
\end{align*}
$$

Note that $\lim _{q \rightarrow 1} d_{n, q}=d_{n}, \quad(n \geq 0)$.
Jeong et al. [15] introduced the degenerate $q$-Daehee polynomials defined by

$$
\begin{align*}
\int_{\mathbb{Z}_{p}} & \left(1+\log (1+\lambda t)^{1 / \lambda}\right)^{x+y} d \mu_{q}(y) \\
= & \frac{q-1+((q-1) / \log q) \log \left(1+\log (1+\lambda t)^{1 / \lambda}\right)}{q-1+q \log (1+\lambda t)^{1 / \lambda}}  \tag{12}\\
& \cdot\left(1+\log (1+\lambda t)^{1 / \lambda}\right)^{x} \\
= & \sum_{n=0}^{\infty} D_{n, q}(x \mid \lambda) \frac{t^{n}}{n!} .
\end{align*}
$$

In the case when $x=0, D_{n, q}(\lambda)=D_{n, q}(0 \mid \lambda)$ are called the degenerate $q$-Daehee numbers.

Note that

$$
\begin{equation*}
\lim _{\lambda \longrightarrow 0} D_{n, q}(x \mid \lambda)=D_{n, q}(x), \quad(n \geq 0) \tag{13}
\end{equation*}
$$

For $n \geq 0$, the Stirling numbers of the first kind are defined by ( $[4,5,8,9,13,15,16]$ )

$$
\begin{equation*}
(x)_{n}=\sum_{l=0}^{n} S_{1}(n, l) x^{l} \tag{14}
\end{equation*}
$$

where $(x)_{0}=1$, and $(x)_{n}=x(x-1) \cdots(x-n+1),(n \geq 1)$. From (14), it is easy to see that ( $[1-3,7,10,14,17,18]$ )

$$
\begin{equation*}
\frac{1}{l!}(\log (1+t))^{l}=\sum_{n=l}^{\infty} S_{1}(n, l) \frac{t^{n}}{n!} \tag{15}
\end{equation*}
$$

For $n \geq 0$, the Stirling numbers of the second kind are defined by ([6, 11, 12, 18-22])

$$
\begin{equation*}
x^{n}=\sum_{l=0}^{n} S_{2}(n, l)(x)_{l} \tag{16}
\end{equation*}
$$

From (16), we see that

$$
\begin{equation*}
\frac{1}{l!}\left(e^{t}-1\right)^{l}=\sum_{n=l}^{\infty} S_{2}(n, l) \frac{t^{n}}{n!} \tag{17}
\end{equation*}
$$

## 2. The $q$-Analogues of Degenerate CatalanDaehee Numbers and Polynomials

In this section, we introduce $q$-analogues of degenerate Catalan-Daehee numbers which are derived from the fermionic $p$-adic $q$-integral on $\mathbb{Z}_{p}$. First, we present the following definition.

For $\lambda, t, q \in \mathbb{C}_{p}$ with $|1-q|_{p}<1$ and $|\lambda t|<p^{-(1 /(p-1))}$, $(1+\lambda t)^{x / \lambda}=e^{(x / \lambda) \log (1+\lambda t)}$. Now, we define the $q$-analogue of degenerate Catalan-Daehee numbers which are given by the generating function

$$
\begin{align*}
\int_{\mathbb{Z}_{p}}\left(1-4 \log (1+\lambda t)^{1 / \lambda}\right)^{x / 2} \mathrm{~d} \mu_{q}(x) & =\frac{q-1+((q-1) / \log q)(1 / 2) \log \left(1-4 \log (1+\lambda t)^{1 / \lambda}\right)}{q \sqrt{1-4 \log (1+\lambda t)^{1 / \lambda}}-1}  \tag{18}\\
& =\sum_{n=0}^{\infty} d_{n, \lambda, q} t^{n} .
\end{align*}
$$

Note that [13]

$$
\begin{equation*}
\lim _{\lambda \longrightarrow 0} d_{n, \lambda, q}=d_{n, q}, \quad(n \geq 0)(\operatorname{see}[6]) \tag{19}
\end{equation*}
$$

$$
\begin{align*}
\sum_{n=0}^{\infty} d_{n, \lambda, q} t^{n} & =\frac{1}{2}\left(\frac{2(q-1)+((q-1) / \log q) \log \left(1-4 \log (1+\lambda t)^{1 / \lambda}\right)}{q^{2}\left(1-4 \log (1+\lambda t)^{1 / \lambda}\right)-1}\right)\left(q \sqrt{\left(1-4 \log (1+\lambda t)^{1 / \lambda}\right)}+1\right) \\
& =\frac{1}{2}\left(\sum_{l=0}^{\infty}(-4)^{l} D_{l, q}(0 \mid \lambda) \frac{t^{l}}{l!}\right)\left(1+q-2 q \sum_{m=0}^{\infty} C_{m, \lambda} t^{m+1}\right) \\
& =\frac{[2]_{q}}{2} \sum_{n=0}^{\infty}(-4)^{n} \frac{D_{n, q}(0 \mid \lambda)}{n!} t^{n}-q \sum_{n=1}^{\infty}\left(\sum_{m=0}^{n-1} \frac{(-4)^{n-m-1}}{(n-m-1)!} D_{n-m-1, q}(0 \mid \lambda) C_{m, \lambda}\right) t^{n}  \tag{20}\\
& =1+\sum_{n=1}^{\infty} \frac{[2]_{q}}{2} \frac{(-4)^{n}}{n!} D_{n, q}(0 \mid \lambda) t^{n}-q \sum_{n=1}^{\infty}\left(\sum_{m=0}^{n-1} \frac{(-4)^{n-m-1}}{(n-m-1)!} D_{n-m-1, q}(0 \mid \lambda) C_{m, \lambda}\right) t^{n} \\
& =1+\sum_{n=1}^{\infty}\left(\frac{[2]_{q}}{2} \frac{(-4)^{n}}{n!} D_{n, q}(0 \mid \lambda)-q \sum_{m=0}^{n-1} \frac{(-4)^{n-m-1}}{(n-m-1)!} D_{n-m-1, q}(0 \mid \lambda) C_{m, \lambda}\right) t^{n} .
\end{align*}
$$

Therefore, by comparing the coefficients on both sides of (20), we obtain the following theorem.

Theorem 1. For $n \geq 0$, we have

$$
d_{n, \lambda, q}= \begin{cases}1, & \text { if } n=0  \tag{21}\\ \frac{[2]_{q}}{2} \frac{(-4)^{n}}{n!} D_{n, q}(0 \mid \lambda)-q \sum_{m=0}^{n-1} \frac{(-4)^{n-m-1}}{(n-m-1)!} D_{n-m-1, q}(0 \mid \lambda) C_{m, \lambda}, & \text { if } n \geq 1\end{cases}
$$

By (18), we note that

$$
\begin{align*}
\int_{\mathbb{Z}_{p}}\left(1-4 \log (1+\lambda t)^{1 / \lambda}\right)^{x / 2} \mathrm{~d} \mu_{q}(x) & =\sum_{m=0}^{\infty} \int_{\mathbb{Z}_{p}} x^{m} \mathrm{~d} \mu_{q}(x) \frac{1}{2^{m}} \frac{1}{m!}\left(-4 \log (1+\lambda t)^{1 / \lambda}\right)^{m} \\
& =\sum_{m=0}^{\infty} B_{m, q}(-2)^{m} \lambda^{n-m} \sum_{n=m}^{\infty} S_{1}(n, m) \frac{t^{n}}{n!}  \tag{22}\\
& =\sum_{n=0}^{\infty}\left(\sum_{m=0}^{n} B_{m, q}(-2)^{m} \lambda^{n-m} S_{1}(n, m)\right) \frac{t^{n}}{n!} .
\end{align*}
$$

Therefore, by (18) and (22), we obtain the following $\int_{\mathbb{Z}_{p}}(1-4 t)^{x / 2} \mathrm{~d} \mu_{q}(x)$
Therem. theorem.

Theorem 2. For $n \geq 0$, we have

$$
\begin{equation*}
=\frac{q-1+((q-1) / \log q)(1 / 2) \log (1-4 t)}{q \sqrt{1-4 t}-1}=\sum_{n=0}^{\infty} d_{n, q} t^{n} . \tag{25}
\end{equation*}
$$

Therefore, by (24) and (25), we obtain the following theorem.
On replacing $t$ by $(1 / \lambda)\left(e^{\lambda t}-1\right)$ in (18), we have

$$
\begin{align*}
\int_{\mathbb{Z}_{p}}(1-4 t)^{x / 2} \mathrm{~d} \mu_{q}(x) & =\sum_{m=0}^{\infty} d_{m, \lambda, q} m!\frac{\left((1 / \lambda)\left[e^{\lambda t}-1\right]\right)^{m}}{m!} \\
& =\sum_{m=0}^{\infty} d_{m, \lambda, q} \lambda^{-m} m!\sum_{n=m}^{\infty} S_{2}(n, m) \lambda^{n} \frac{t^{n}}{n!} \\
& =\sum_{n=0}^{\infty}\left(\sum_{m=0}^{n} d_{m, \lambda, q} \lambda^{n-m} m!S_{2}(n, m)\right) \frac{t^{n}}{n!} \tag{26}
\end{align*}
$$

Theorem 3. For $n \geq 0$, we have

$$
d_{n, q}=\sum_{m=0}^{n} d_{m, \lambda, q} q^{n-m} S_{2}(n, m) \frac{m!}{n!},
$$

$$
\sum_{m=0}^{n}(-1)^{n} 2^{2 n-m} B_{m, q} S_{1}(n, m)=\sum_{m=0}^{n} d_{m, \lambda, q} \lambda^{n-m} S_{2}(n, m) m!
$$

From (18), we observe that
On the other hand,

$$
\begin{align*}
\int_{\mathbb{Z}_{p}}\left(1-4 \log (1+\lambda t)^{1 / \lambda}\right)^{x / 2} \mathrm{~d} \mu_{q}(x) & =\sum_{m=0}^{\infty}(-1)^{m} 4^{m} \int_{\mathbb{Z}_{p}}\binom{\frac{x}{2}}{m} \mathrm{~d} \mu_{q}(x) \frac{\left[\log (1+\lambda t)^{1 / \lambda}\right]^{m}}{m!} \\
& =\sum_{m=0}^{\infty} d_{m, q}(-1)^{m} 4^{m} \lambda^{n-m} \sum_{n=m}^{\infty} S_{1}(n, m) \frac{t^{n}}{n!}  \tag{27}\\
& =\sum_{n=0}^{\infty}\left(\sum_{m=0}^{n} d_{m, q}(-1)^{m} 4^{m} \lambda^{n-m} S_{1}(n, m)\right) \frac{t^{n}}{n!}
\end{align*}
$$

Therefore, by (18) and (27), we get the following theorem.

Theorem 4. For $n \geq 0$, we have

$$
\begin{equation*}
d_{n, \lambda, q}=\frac{1}{n!} \sum_{m=0}^{n} d_{m}(-1)^{m} 4^{m} \lambda^{n-m} S_{1}(n, m) \tag{28}
\end{equation*}
$$

For $\lambda, t, q \in \mathbb{C}_{p}$ with $|1-q|_{p}<1$ and $|\lambda t|<p^{-(1 /(p-1))}$. The $q$-analogue of $\lambda$-Daehee polynomials $D_{n, \lambda, q}(x)$ are defined by the following generating function ([6]):
$\int_{\mathbb{Z}_{p}}(1+t)^{\lambda y+x} \mathrm{~d} \mu_{q}(y)=\frac{q-1+\lambda((q-1) / \log q) \log (1+t)}{q(1+t)^{\lambda}-1}$

$$
\begin{align*}
& \cdot(1+t)^{x} \\
= & \sum_{n=0}^{\infty} D_{n, \lambda, q}(x) \frac{t^{n}}{n!} . \tag{29}
\end{align*}
$$

When $x=0, D_{n, \lambda, q}=D_{n, \lambda, q}(0)$ are called the $q$-analogue of $\lambda$-Daehee numbers.

On setting $\lambda=1 / 2$ and $t \longrightarrow-4 \log (1+\lambda t)^{1 / \lambda}$ in (29), we have

$$
\begin{align*}
\int_{\mathbb{Z}_{p}} & \left(1-4 \log (1+\lambda t)^{1 / \lambda}\right)^{x / 2} \mathrm{~d} \mu_{q}(x) \\
& =\sum_{m=0}^{\infty} D_{m,(1 / 2), q} \frac{\left(-4 \log (1+\lambda t)^{1 / \lambda}\right)^{m}}{m!} \\
& =\sum_{m=0}^{\infty} D_{m,(1 / 2), q}(-4)^{m} \lambda^{-m} \sum_{n=m}^{\infty} S_{1}(n, m) \frac{\lambda^{n} t^{n}}{n!}  \tag{30}\\
& =\sum_{n=0}^{\infty}\left(\sum_{m=0}^{n} D_{m,(1 / 2), q} \lambda^{n-m} S_{1}(n, m) \frac{(-4)^{m}}{n!}\right) t^{n}
\end{align*}
$$

Therefore, by (18) and (30), we obtain the following theorem.

Theorem 5. For $n \geq 0$, we have

$$
\begin{align*}
d_{n, \lambda, q} & =\sum_{m=0}^{n} D_{m,(1 / 2), q} \lambda^{n-m} S_{1}(n, m) \frac{(-4)^{m}}{n!},  \tag{31}\\
\sum_{m=0}^{n}(-1)^{m} B_{m, q} 2^{m} \lambda^{n-m} S_{1}(n, m) & =\sum_{m=0}^{n} D_{m,(1 / 2), q} \lambda^{n-m} S_{1}(n, m)(-4)^{m} .
\end{align*}
$$

By replacing $t$ by $\log (1+\lambda t)^{1 / \lambda}$ in (11), we get

$$
\begin{align*}
\frac{q-1+((q-1) / \log q)(1 / 2) \log \left(1-4 \log (1+\lambda t)^{1 / \lambda}\right)}{q \sqrt{1-4 \log (1+\lambda t)^{1 / \lambda}}-1} & =\sum_{m=0}^{\infty} d_{m, q} m!\frac{\left[\log (1+\lambda t)^{1 / \lambda}\right]^{m}}{m!} \\
& =\sum_{m=0}^{\infty} d_{m, q} \lambda^{-m} m!\frac{(\log (1+\lambda t))^{m}}{m!}  \tag{32}\\
& =\sum_{m=0}^{\infty} d_{m, q} \lambda^{-m} m!\sum_{n=m}^{\infty} S_{1}(n, m) \frac{\lambda^{n} t^{n}}{n!} \\
& =\sum_{n=0}^{\infty}\left(\sum_{m=0}^{n} d_{m, q} \lambda^{n-m} m!S_{1}(n, m)\right) \frac{t^{n}}{n!}
\end{align*}
$$

Therefore, by (18) and (32), we get the following theorem.

$$
\begin{equation*}
d_{n, \lambda, q}=\sum_{m=0}^{n} d_{m, q} \lambda^{n-m} m!S_{1}(n, m) \frac{m!}{n!} \tag{33}
\end{equation*}
$$

Theorem 6. For $n \geq 0$, we have
Now, we observe that

$$
\begin{align*}
\left(1-4 \log (1+\lambda t)^{1 / \lambda}\right)^{x / 2} & =\sum_{m=0}^{\infty}\left(\frac{x}{2}\right)^{m}(-1)^{m} 4^{m} \frac{\left[\log (1+\lambda t)^{1 / \lambda}\right]^{m}}{m!} \\
& =\sum_{m=0}^{\infty}\left(\frac{x}{2}\right)^{m} \lambda^{-m}(-1)^{m} 4^{m} \sum_{n=m}^{\infty} S_{1}(n, m) \frac{\lambda^{n} t^{n}}{n!}  \tag{34}\\
& =\sum_{n=0}^{\infty}\left(\sum_{m=0}^{n}\left(\frac{x}{2}\right)^{m} \lambda^{n-m}(-1)^{m} 4^{m} S_{1}(n, m)\right) \frac{t^{n}}{n!}
\end{align*}
$$

Now, we consider the $q$-analogue of degenerate CatalanDaehee polynomials which are given by the following generating function:

$$
\begin{align*}
\int_{\mathbb{Z}_{p}}\left(1-4 \log (1+\lambda t)^{1 / \lambda}\right)^{(x+y) / 2} \mathrm{~d} \mu_{q}(y) & =\frac{q-1+((q-1) / \log q)(1 / 2) \log \left(1-4 \log (1+\lambda t)^{1 / \lambda}\right)}{q \sqrt{1-4 \log (1+\lambda t)^{1 / \lambda}}-1}\left(1-4 \log (1+\lambda t)^{1 / \lambda}\right)^{x / 2} \\
& =\sum_{n=0}^{\infty} d_{n, \lambda, q}(x) t^{n} \tag{35}
\end{align*}
$$

When $x=0, d_{n, \lambda, q}=d_{n, \lambda, q}(0)$ are called the $q$-analogue
From (35), we note that of degenerate Catalan-Daehee numbers.

$$
\begin{align*}
& \frac{q-1+((q-1) / \log q)(1 / 2) \log \left(1-4 \log (1+\lambda t)^{1 / \lambda}\right)}{q \sqrt{1-4 \log (1+\lambda t)^{1 / \lambda}}-1}\left(1-4 \log (1+\lambda t)^{1 / \lambda}\right)^{x / 2} \\
& =\left(\sum_{n=0}^{\infty} d_{n, \lambda, q} t^{n}\right)\left(\sum_{m=0}^{\infty}\binom{\frac{x}{2}}{m}(-1)^{m} 2^{2 m} m!\frac{\left(\log (1+\lambda t)^{1 / \lambda}\right)^{m}}{m!}\right) \\
& =\left(\sum_{n=0}^{\infty} d_{n, \lambda, q} t^{n}\right)\left(\sum_{m=0}^{\infty}\binom{\frac{x}{2}}{m}(-1)^{m} 2^{2 m} \lambda^{-m} m!\sum_{l=m}^{\infty} S_{1}(l, m) \frac{\lambda^{l} t^{l}}{l!}\right)  \tag{36}\\
& =\left(\sum_{n=0}^{\infty} d_{n, \lambda, q} t^{n}\right)\left(\sum_{l=0}^{\infty} \sum_{m=0}^{l}\binom{\frac{x}{2}}{m}(-1)^{m} 2^{2 m} \lambda^{l-m} m!S_{1}(l, m) \frac{t^{l}}{l!}\right) \\
& =\sum_{n=0}^{\infty}\left(\sum_{l=0}^{n} \sum_{m=0}^{l}\binom{\frac{x}{2}}{m}(-1)^{m} 2^{2 m} \lambda^{l-m} S_{1}(l, m) d_{n-l, \lambda, q} \frac{m!}{l!}\right) t^{n} .
\end{align*}
$$

By (35) and (36), we obtain the following theorem.
Theorem 7. For $n \geq 0$, we have

$$
\begin{equation*}
d_{n, \lambda, q}(x)=\sum_{l=0}^{n} \sum_{m=0}^{l}\binom{\frac{x}{2}}{m}(-1)^{m} 2^{2 m} \lambda^{l-m} S_{1}(l, m) d_{n-l, \lambda, q} \frac{m!}{l!} \tag{37}
\end{equation*}
$$

From (35), we see that

$$
\begin{align*}
\sum_{n=0}^{\infty} d_{n, \lambda, q}(x) t^{n} & =\frac{q-1+((q-1) / \log q)(1 / 2) \log \left(1-4 \log (1+\lambda t)^{1 / \lambda}\right)}{q \sqrt{1-4 \log (1+\lambda t)^{1 / \lambda}}-1}\left(1-4 \log (1+\lambda t)^{1 / \lambda}\right)^{x / 2} \\
& =\left(\sum_{n=0}^{\infty} d_{n, \lambda, q} t^{n}\right)\left(\sum_{k=0}^{\infty}\left(\sum_{m=0}^{k}\left(\frac{x}{2}\right)^{m} \lambda^{k-m}(-1)^{m} 4^{m} S_{1}(k, m)\right) \frac{t^{k}}{k!}\right)  \tag{38}\\
& =\sum_{n=0}^{\infty}\left(\sum_{k=0}^{n} \sum_{m=0}^{k}\left(\frac{x}{2}\right)^{m} \lambda^{k-m} S_{1}(k, m)(-1)^{m} 4^{m} d_{n-k, \lambda, q} \frac{1}{k!}\right) t^{n}
\end{align*}
$$

Therefore, by (38), we obtain the following theorem.
On replacing $t$ by $(1 / \lambda) e^{\lambda t}-1$ in (35), we define $q$-analogue Catalan polynomials are given by
Theorem 8. For $n \geq 0$, we have

$$
\begin{equation*}
d_{n, q, \lambda}(x)=\sum_{k=0}^{n} \sum_{m=0}^{k}\left(\frac{x}{2}\right)^{m} \lambda^{k-m}(-1)^{m} 4^{m} S_{1}(k, m) d_{n-k, \lambda, q} \frac{1}{k!} \tag{39}
\end{equation*}
$$

$$
\begin{equation*}
\int_{\mathbb{Z}_{p}}(1-4 t)^{(x+y) / 2} \mathrm{~d} \mu_{q}(y)=\frac{q-1+((q-1) / \log q)(1 / 2) \log (1-4 t)}{q \sqrt{1-4 t}-1} \sqrt{(1-4 t)^{x}}=\sum_{n=0}^{\infty} d_{n, q}(x) t^{n} \tag{40}
\end{equation*}
$$

On the other hand,

$$
\begin{align*}
\sum_{m=0}^{\infty} d_{m, \lambda, q}(x) m!\frac{\left((1 / \lambda) e^{\lambda t}-1\right)^{m}}{m!} & =\sum_{m=0}^{\infty} d_{m, \lambda, q}(x) m!\lambda^{-m} \sum_{n=m}^{\infty} S_{1}(n, m) \frac{\lambda^{n} t^{n}}{n!} \\
& =\sum_{n=0}^{\infty}\left(\sum_{m=0}^{n} d_{m, \lambda, q}(x) \lambda^{n-m} S_{1}(n, m) m!\right) \frac{t^{n}}{n!} \tag{41}
\end{align*}
$$

Therefore, by (40) and (41), we state the following theorem.

$$
\begin{equation*}
d_{n, q}(x)=\sum_{m=0}^{n} d_{m, \lambda, q}(x) \lambda^{n-m} S_{1}(n, m) \frac{m!}{n!} \tag{42}
\end{equation*}
$$

Theorem 9. For $n \geq 0$, we have

$$
\begin{align*}
& \frac{q-1+((q-1) / \log q)(1 / 2) \log \left(1-4 \log (1+\lambda t)^{1 / \lambda}\right)}{q \sqrt{1-4 \log (1+\lambda t)^{1 / \lambda}}-1}\left(1-4 \log (1+\lambda t)^{1 / \lambda}\right)^{\frac{x}{2}} \\
& \quad=\int_{\mathbb{Z}_{p}}\left(1-4 \log (1+\lambda t)^{1 / \lambda}\right)^{(x+y) / 2} \mathrm{~d} \mu_{q}(y) \\
& \quad=\sum_{m=0}^{\infty} 2^{-m} \frac{1}{m!}\left(-4 \log (1+\lambda t)^{1 / \lambda}\right)^{m} \int_{\mathbb{Z}_{p}}(x+y)^{m} \mathrm{~d} \mu_{q}(y)  \tag{43}\\
& \quad=\sum_{m=0}^{\infty} 2^{m}(-1)^{m} B_{m, q}(x) \lambda^{-m} \sum_{n=m}^{\infty} S_{1}(n, m) \frac{\lambda^{n} t^{n}}{n!} \\
& \quad=\sum_{n=0}^{\infty}\left(\sum_{m=0}^{n} 2^{m}(-1)^{m} B_{m, q}(x) \lambda^{n-m} S_{1}(n, m) \frac{1}{n!}\right) t^{n} .
\end{align*}
$$

Thus, by (35) and (43), we get the following theorem.

$$
\begin{equation*}
\int_{\mathbb{Z}_{p}}(1+t)^{(x+y) / 2} \mathrm{~d} \mu_{q}(y)=\sum_{n=0}^{\infty} 2^{-n} \int_{\mathbb{Z}_{p}}(x+y)^{n} \mathrm{~d} \mu_{q}(y) \frac{t^{n}}{n!} \tag{45}
\end{equation*}
$$

Theorem 10. For $n \geq 0$, we have

$$
\begin{equation*}
d_{n, \lambda, q}(x)=\sum_{m=0}^{n} 2^{m}(-1)^{m} B_{m}(x) \lambda^{n-m} S_{1}(n, m) \frac{1}{n!} \tag{44}
\end{equation*}
$$

On the other hand, we have

Replacing $t$ by $\left(e^{-(\lambda t / 4)}-1\right) / \lambda$ in (35), we get

$$
\begin{align*}
\sum_{m=0}^{\infty} d_{m, \lambda, q}(x) m!\frac{\left(\left(e^{-(\lambda t / 4)}-1\right) / \lambda\right)^{m}}{m!} & =\sum_{m=0}^{\infty} d_{m, q, \lambda}(x) m!\lambda^{-m} \sum_{n=m}^{\infty} S_{2}(n, m) \frac{(-4)^{n} \lambda^{n} t^{n}}{n!}  \tag{46}\\
& =\sum_{n=0}^{\infty} \sum_{m=0}^{n} d_{m, \lambda, q}(x) m!\lambda^{n-m}(-1)^{n} 4^{n} S_{2}(n, m) \frac{t^{n}}{n!}
\end{align*}
$$

Therefore, by (45) and (46), we obtain the following theorem.

Theorem 11. For $n \geq 0$, we have

$$
\begin{equation*}
\int_{\mathbb{Z}_{p}}(x+y)^{n} \mathrm{~d} \mu_{q}(y)=(-2)^{n} \sum_{m=0}^{n} d_{m, \lambda, q}(x) m!\lambda^{n-m} S_{2}(n, m) \tag{47}
\end{equation*}
$$

## 3. Conclusion

By utilizing various apparatuses, many unique numbers and polynomials have been concentrated. Beforehand, the Catalan-Daehee numbers and polynomials were presented through $p$-adic Volkenborn, and a few intriguing outcomes for them were obtained by utilizing creating capacities, differential conditions, umbral math, and $p$-adic Volkenborn integrals. In this study, we presented degenerate $q$-analogues of the Catalan-Daehee numbers and
polynomials and acquired a few unequivocal articulations and personalities connected with them. In more detail, we communicated the Catalan-Daehee numbers as far as ruffian $q$-Daehee numbers and the $q$-Bernoulli polynomials and Stirling quantities of the primary kind. We acquired a personality, including $q$-Bernoulli numbers, degenerate $q$-Catalan-Daehee numbers, and Stirling quantities of the subsequent kind. Likewise, we got an unequivocal articulation for the ruffian $q$-analogues of Catalan-Daehee polynomials, which include the savage $q$-analogues of Catalan-Daehee numbers and Stirling quantities of the primary kind.

## Data Availability

No data were used to support this study.

## Conflicts of Interest

The author declares that there are no conflicts of interest.

## Acknowledgments

The author thanks Prince Mohammad Bin Fahd University, Saudi Arabia, for providing facilities and support.

## References

[1] I. Kucukoglu, B. Simsek, and Y. Simsek, "New classes of Catalan-type numbers and polynomials with their applications related to $p$-adic integrals and computational algorithms," Turkish Journal of Mathematics, vol. 44, pp. 2337-2355, 2020.
[2] T. Kim and D. S. Kim, "Some identities of Catalan-Daehee polynomials arising from umbral calculus," Applied and Computational Mathematics, vol. 16, no. 2, pp. 177-189, 2017.
[3] T. Kim and D. S. Kim, "Differential equations associated with Catalan-Daehee numbers and their applications," Revista de la Real Academia de Ciencias Exactas, Físicas y Naturales. Serie A. Matemáticas, vol. 111, no. 4, pp. 1071-1081, 2017.
[4] D. S. Kim and T. Kim, "Triple symmetric identities for w-Catalan polynomials," Journal of the Korean Mathematical Society, vol. 54, no. 4, pp. 1243-1264, 2017.
[5] D. V. Dolgy, G.-W. Jang, D. S. Kim, and T. Kim, "Explicit expressions for Catalan-Daehee numbers," Proceedings of the Jangjeon Mathematical Society, vol. 20, no. 1, pp. 1-9, 2017.
[6] Y. Ma, T. Kim, D. S. Kim, and H. Lee, "A study on q-analogues of Catalan-Daehee numbers and polynomials," Filomat Journal, vol. 37, no. 5, pp. 1-7, 2022.
[7] T. Kim, " $q$-Volkenborn integration," Russian Journal of Mathematical Physics, vol. 9, no. 3, pp. 288-299, 2002.
[8] S. Araci, M. Acikgoz, and A. Kilicman, "Extended p-adic $q$-invariant integrals on $Z_{p}$ associated with applications of umbral calculus," Advances in Difference Equations, vol. 2013, p. 96, 2013.
[9] I. N. Cangul, V. Kurt, Y. Simsek, H. K. Pak, and S.-H. Rim, "An invariant $p$-adic $q$-integral associated with $q$-Euler numbers and polynomials," Journal of Nonlinear Mathematical Physics, vol. 14, no. 1, pp. 8-14, 2007.
[10] T. Kim, "On a $q$-analogue of the $p$-adic log gamma functions and related integrals," Journal of Number Theory, vol. 76, no. 2, pp. 320-329, 1999.
[11] H. Ozden, I. N. Cangul, and Y. Simsek, "Remarks on $q$-Bernoulli numbers associated with Daehee numbers," Advanced Studies in Contemporary Mathematics (Kyungshang), vol. 18, no. 1, pp. 41-48, 2009.
[12] Y. Simsek, "Analysis of the $p$-adic $q$-Volkenborn integrals: an approach to generalized Apostol-type special numbers and polynomials and their applications," Cogent Math, vol. 3, p. 17, Article ID 1269393, 2016.
[13] D. S. Kim and T. Kim, "A new approach to Catalan numbers using differential equations," Russian Journal of Mathematical Physics, vol. 24, no. 4, pp. 465-475, 2017.
[14] T. Kim, "A note on Catalan numbers associated with $p$-adic integral on $Z_{p}$," Proceedings of the Jangjeon Mathematical Society, vol. 19, no. 3, pp. 493-501, 2016.
[15] J. Jeong, D.-J. Kang, and S. H. Rim, "On degenerate $q$-Daehee numbers and polynomials," International Journal of Mathematics and Analysis, vol. 9, no. 44, pp. 2157-2170, 2015.
[16] U. Duran and M. Acikgoz, "On applications for Mahler expansion associated with $p$-adic $q$-integrals," International Journal of Number Theory, vol. 15, no. 1, pp. 67-84, 2019.
[17] D. S. Kim, T. Kim, H. Y. Kim, and J. Kwon, "Identities of symmetry for Euler polynomials and alternating power
sums," Proceedings of the Jangjeon Mathematical Society, vol. 24, no. 2, pp. 153-170, 2021.
[18] D. S. Kim, T. Kim, J. Kwon, S.-H. Lee, and S. Park, "On $\lambda$-linear functionals arising from $p$-adic integrals on $Z_{p}$," Advances in Difference Equations, vol. 479, p. 12, 2021.
[19] T. Kim and D. S. Kim, "Some identities on truncated polynomials associated with degenerate Bell polynomials," Russian Journal of Mathematical Physics, vol. 28, no. 3, pp. 342-355, 2021.
[20] E.-J. Moon, J.-W. Park, and S.-H. Rim, "A note on the generalized $q$-Daehee numbers of higher order," Proceedings of the Jangjeon Mathematical Society, vol. 17, no. 4, pp. 557-565, 2014.
[21] J.-W. Park, "On a $q$-analogue of $(h, q)$-Daehee numbers and polynomials of higher order," Journal of Computational Analysis and Applications, vol. 21, no. 4, pp. 769-776, 2016.
[22] S. Kumar Sharma, W. A. Khan, S. Araci, and S. S. Ahmed, "New type of degenerate Daehee polynomials of the second kind," Advances in Difference Equations, vol. 2020, no. 1, p. $428,2020$.

